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© T I @ o 3 Q1 7 ghitem & d f e o @ @@ & T 3 I g
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Before answering the questions, ensure that you have been supplied the correct and

complete queslion paper, no claim in this regard, will be entertained qfter
examination. '

a3 :

General Instructions :

1.

2610

(i) &f 597 oard &

All questions are compulsory.
(i) 997 GG 1 & 20 TF TGS Fo7 &1 FAF 7971 oF F &

Question Nos. 1 to 20 are Objective Type Questions. Each question carries 1
mark.

(i) 797 TG 21 & 24 aF STy JACT 507 & TF 997 3 3% &

Question Nos. 21 to 24 are Very Short Answer Type Questions. Each
question carries 3 marks.

(iv) 597 G825 & 30 7% @Y I707 F07 & 4% 99T & 9% & &

Question Nos. 25 to 30 are Short Answer Type Questions. Each question
carnes 4 marks.

(v) 597 G&T 31 & 34 7% A7~ 37 & S0% 997 6 HE F &

Question Nos. 31 to 34 are Long Answer Type Questions. Each question
carries 6 marks.

& Fo1 $2E Ro @ T W fo 3 Fufd ¥ ol el & @ Faita T @)
F O @ &9 A 7@ & & 37 e gra fafda e @ A sifaw swam @ fe gdm
¥ o o & @ gEe garm A o #ruhem A qud fen e g 1
3O 3 30 TR & geaie TER 3 st geRm

(A) Sl Iam (B) o/ 3@

(C) fmioh SaEm (D) STiFm & #2747

Hare Krishna Industrics Ltd. and Rama Industries Lid. are the companies
which are concerned with using materials, which have already been extracted

at a primary state. These companics process such matcerials to produce poods
for final consumption or for further processing by other industrial units.

Identify the type of industry to which these companics are related :

(A) Primary Industry (B) Secondary Industry
(C) Tertiary Industry (D) None of the above



a.

2610

(3) 2610

wrea 9 A Seed B e F IET ¥ 1
(A) i 3z (B) TS P

() H F= (D) i & d #F 7d

Indian Railways is the example of .............. form of public cnterprises.

(A} Departmental Undertakings (B) Public Corporations

(C) Government Company (D) None of the above

W A afk Rs. 50,000 G4 & A @ M Rs. 70,000 F Faw & 3R R & A
Howe B i, @ M I da9 qwRE @ oy Rs. 50,000 F @ PEE By
Ed faudia, aRk # =R Rs. 50,000 7@ & 5 & Rs. 30,000 & v Fwaa b ol
F A dfowre B A 8, @ FER dad Rs. 30,000 F A A HO 1

I F1 frera TaRe R 9w Semrer qafea @
(A) e & (B) &gt
(C) ARFT Fod (D) &fY @ T A

A person gets his stock insured worth Rs. 50,000 for Rs. 70,000. A fire occurs
and whole stock gets damaged. Insurance company will pay him only
Rs. 50,000, i.c., the actual value of his stock and not Rs. 70,000. On the other
hand, if any person gets his stock insured worth Rs. 50,000 for Rs. 30,000
and the whole stock gets damaged, he will get only Rs. 30,000, the actual

valuc for which insurance has been taken,
Mcention the principle of insurance to which the above example is related :

(A) Proximatc causc (B) Indemnity

(C) Subrogation (D) Mitigation

§-Ree & & ges ¢ P @93 @ & B W agaRs o ot gt BN W P
IEF B & ¢-fA978 7 9% w9 @& Jqe @ N e gug o e @ §9e § W
ova & & - 1
3-8 3 2°F B 9 FARC : _ :

(A) B2B Fhd (B) B2C ¥Md

(C) ¥-B Ftwd (D) C2C 3d

There is a constituent of e-business in which transactions have business firms
at one end and its customers on the other end. It cnables a business to be in
touch with its customers on round-the-clock basis.

Name the constituent of e-business :
(A) B2B Commerce (B) B2C Commerce
(C) Intra-B Commerce (D) C2C Commerce

P.T.O.
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5. 9 M3 (Public Deposits) 78 PR 3 & @ ..ococveeee A g R T 2 1
(A) ST (B) EI®
(C) e (D) @
Public deposits arc the dcposits that are raised directly from ............... .
(A) The Public (B) The Directors
(C) The Auditors (D) The Owners
6. IWRMFI MM A P A A mamam ¥ ? 1
(A) I (B) I
(C) T (D) el 7 Iaftmr
What is the outcome of entreprencurship called ?
(A) Entrcprencur (B) Entreprencurship
(C) Enterprise (D) Entreprencur and Entreprencurship
7. 0® A W R A A ogaw o % Z0 & I R 1
(A) oY% (3) GTHR M
(C) Tie (D) IEH
The facility of 'home delivery of goods' is gencerally provided by .............
(A) Wholcsaler (3) Retailer
(C) Agent (D) Producer
8 T H oo F Io@ fear A i
(A) | & 9™ (B) 97 # fre
(C) T B [ (D) IETFR T
...................... is explained in the Indent.
(A) Namc of goods (B) Quality of goods
(C) Price of goods (D) All of the above
. NP AEF ST T R T 8 (A7 & T T/ TE) |
............. is not an cxamplc of business Uncertainty.
(Wrong estimate of demand/ Earthquake)
10. s T 4 g5 @ AR dE & (50/ & & e 78) 1
The maximum number of members in a public company is ......... (50/ No limit)

2810
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11, e AR AW B ST I B (siffy i T $ay) 1

.............. comes under general insurance. (Fire Insurance/ Life insurance)
12. Prafee & RO QU oo BT @ AT A e 7 ¥ (T ud/ErR Rey 1
Hiring the whole ship for Export is called ......... . (Charter Party/ Shipping Bill)
13. TR T & fow ofafan s HOA e B (#7761
Every company must file Articles of Association. (True/ False)
14. W@ § 9@ We 30 ad & fo 71 & & (./37%7) 1
All the patents in India have their validity for 30 ycars. (True/ False)

15. GST =R 3 ofld ‘9X @ SR ¢ @ & 7 5 Faa @ ghe | (F/579) 1

Undecr the system of GST, the tax is charged not only on Value Addition but

'Tax on Tax'. (True/ False)
16. ‘Tom S g afifes Rmel @ wger Yead (Il $exe) & MW § [ FA
81 IWFT U FIEY B IR G WA A Fafed 31 @ wea 1

It refers to conducting all the commercial activitics through computer network
(Internet). The above statement is related to one of the emerging modes of
business. Identify it.

17. “so@ a9 A e S $ 996 @ 8, A & Aeais @8 @ JRad J
o & R R FR #3117 Sule FEE FR A e @ R & e & 5@
qeefaa 1
"It refers to that person or a group of persons whe performs various functions
to bring a business unit into existence.” The above statement is related to one
of the terms of formation of company. Identify it.

18. “gam ANHE I i & B A affs a9 F JEE T g @ F9 G Al @
aRFER A mafE @ 7 U0HE T NN B o Se @ gah[ ¥ @ el 1
"It refers to those shares which carry preferential right in the pa);mcnt of
annual dividend and repayment of capital in the event of liquidation." The
above statement is related-to one of the types of shares. Identify it.

261
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2 Ru e el § ¥ g @ 9w 1 1
e (A) : el Swet g i T @ aEEd @I S e o

F (R) : T& WEH H AT F T O 2

(A) SHHFE (A) T FRU (R) A 70 ¥ R R, AR W& e &

(B) N (A) T FRM (R) I & ¥ M R, AH 7 e + ¥

(C) M (A) T & AR IRV (R) o7 B

(D) SFHEFF (A) TN PR (R) A4 o9 &

Choose one of the correct alternatives given below :

Assertion (A) : The revenue earned by Departmental Undertakings' is paid into
the treasury.

Reason (R): It is a source of income for the government.'

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct
explanation of Assertion (A).

|
(B) Both Assertion (A) and Reason (R) are true and Reason (R) is not the
correct explanation of Assertion (A).

(C) Assertion (A) is true but Reason (R) is false.
(D) Assertion (A) and Reason (R) both are false:

A R T R 3 Y adw 1
AT (A) : T AR T A WARGE SRIRE B SR & I o T
, o & fou M@ TR AR &
FHOT(R): AT & I+ @ o o §9 ¥ o0 T 9 SR 39 I 3 @
(A) SNHA (A) T FR (R) AT 7 § oK R, A W e ¥
(B) @A (A)T FRU (R) | §9 & AR R, AR & e 78 ¥
(C) T (A) §T ¥ BT PR (R) 16 &
(D) ST (A) T TR (R) AT T &
Choose' one of the correct alternatives given below :
Assertion (A) : The assumption of social responsibility by business provides
justification for its existence and growth.
Reason (R):  The prosperity and growth of business is possible only through
continuous service to society.
(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct
explanation of Assertion (A).
(B) Both Assertion '(A) and Rea§on (R) are true and Reason R) is not the
correct explanation of Assertion (A).. |
(C) Assertion (A) is true but Reason (R) is false.
(D) Assertion (A) and Reason (R) both are false.
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26.

27.

(7) | 2610
mﬁ%ﬁ%r‘ﬁ?mwl _ 3

Wliite any three merits of partnership.

T B 5 2w § 3 7 s Fa 3
Mention any three responsibility of business towards consumers.

M W T T B iR qw | 3
Explain any three differences between shares and debentures.

HYq[
OR

MY e & g & a8 fi7ed @ v 3

Explain any three importances of finance in modern business.

TEH AN B PR A [ o | 8
Point out any three features of a retail trader.

Il

OR .
IO FeFN AR & HY A7 aH AT - 3

Point out any three advantages of the Consumers' Cooperative Stores.

ZaEE a4 VR F g7 FiaT ik | 4
Write four differences between Business and Employment.

T Y w1 AW B 7 g6 @ A & aue & 2+2=4

What do you mean by Internet ? Explain its two benefits.

L
OR

9 & & e R @ avie & 4

Explain any four principles of Insurance.

- S090 F ¢ 7 WK 99 9 §-990 & ¢ g ofa¥ Rt 24+2=4
What is e-Business ? Write any two differences between traditional business

. and e-Business.

28.
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o B Y 9 Bl g awemel & oo B 4

Explain any four problems faced by a small business.

P.T.0.
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oI5 AR a0 Fafet s SuR @ @ 99 aw B v daet & o B 4

Explain any four services offered by the wholesalers to the manufactures or
producers.

IS aeE 3 R g e R yEw st 4
Highlight any four importance of international business.

L

OR
AT JA B (IMF) 7 8 ? 3 @ §&@ Rl TR 242=4
What is International Monetary Fund (IMF) ? Explain its main two objectives.
Tewd G & A Y & 7 THH B a7y RAVAN TR 2+4=6

What do you mean by cooperative organization ? Explain its four
characteristics.

Yl
OR

T §eq 3 5l & gt A s Ff 6

Discuss any six limitations of the company organization.

gt Rt B el & st & 3ol Al 6

Explain any six features of the public corporations.

T S gaie § o A § 7 s R @ At gole @t 2+4=6
What do you mean by Incorporation of a Company ? Explain in brief its
procedure.

YT
OR

qrig A e T s 3 @ 6 i Fh .

Give any six differences between the Memorandum of Association and the
Articles of Association.

A BT o< F D 0 GO Sl A} A B B & Wl A v w6

Explain any six limitations of issuing equity shares to raise long term finance.



